Programming learning remotes 

The remote control codes for the HP de100c are a standard NEC format, but there is something a little non-standard about the way the repeat codes are sent when a key is held down.  If a remote key is held down for more the 100 ms (.1) seconds, the remote sends out a shorthand message which is interpreted by the receiver that the same keycode has been repeated.  The receiver in the HP de100c ignores the first few of these to ‘de-bounce’ the key and avoid repeated key sequences.

Shown below is the IR being captured by the internal sensor in the de100c on trace 1 (the lower scope trace).  The first pulse, approximately 10 ms in length, tells the receiver that some data is starting.  Then the set of fast transitions approximately60ms in length contain the 4-byte IR code.  There are 32 transitions total.  Approximately 100 ms after the first pulse is sent, a second start pulse and a single ‘repeat’ pulse is sent.  This conserves batteries in the remote, but can cause some difficulties when programming learning remotes.  Many ‘learning’ remotes such as the Pronto require that the device must capture a recognizable IR code which means that the key must be tapped quickly and let go.  Otherwise, the second ‘repeat’ pulse is likely to appear and confuse the learning remote.  If you hold the key too long, you will failure to capture the proper IR code.  Also, if you don’t tap the key quickly enough, the learning remote might capture the repeat shorthand pulse and it will be impossible to navigate with the learning remote without seeing a repeated key sequence.  A good way to perfect the technique is to try programming the up/down keys in the navigation cluster.  This is easy to test because if you’re not doing it right, you’ll see double jumping through the lists when the key is only pressed once. 
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 200 ms elapsed time (Channel 1 = IR receiver, Channel 2 = PS2 port)

